Answers

1.  The “aqualung” made diving easier.
2.  SCUBA means “self-contained underwater breathing apparatus”.
3.  Jacques Cousteau was a French naval captain, who invented the 
          aqualung in1943.
4.  “The bends” is the term given to the increased nitrogen in the
      tissues, as a result of staying too deep and not observing 
      decompression stops on the way to the surface.  The nitrogen is
      released from the tissues as bubbles, which collect in the joints and
      cause severe pain and the diver bends over.
5.  In order to cure the bends, the diver must be recompressed.  This is
     done in a “decompression” or “recompression” chamber. 
6.  Nitrogen narcosis is caused by a build-up of nitrogen in the tissues, 
     caused by being too deep for too long.
7.  A wetsuit keeps the diver’s body warm by insulating the body with
     neoprene and a layer of water between the skin and suit.
8.  A diver can control his or her buoyancy by using a weight belt and a 
     buoyancy compensator.
9.  An early diving method was to breathe through a hollow reed or
     tube.  It was unsuccessful because with any substantial length the 
     carbon dioxide would accumulate and suffocate the diver.  Also, at 
     depth, air pressure would be required in order for the lungs to 
     expand. 
10. Different items that a diver needs are:

Scuba tanks to provide air

Weight belt to assist in maintaining depth

Buoyancy compensator to control depth

Fins for manoeuvring and propulsion

Facemask for vision

Depth gauge to give the exact depth

Wetsuit for warmth
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